New Maths GCSE: A4 - Higher Factorising Quadratics

Correct Answer: ABCD

: 2a +Ix+ 12 Explanation:

Which is a correct factorisation of the = | ceverrerrarsssrmmrmrmrmrasassnansnnsassrasrasanaa s
quadratic expression?

(XH6)(Xx+2) | ——————

Bl (x+5)(x+2) | e,
(x+8)(x+3) |

(x+6)(x+1) ..........................................................................
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X & 6x ‘3 9 Explanation:

Which is a correct factorisation 0f the | rererrerarreririrarnrarnsasrrirrr
quadratic expression?

(X+3)(X+3) | ——————
R EEZ) $z 00 | ceescsssscsccsssssssscssesii,

(x+3) ..........................................................................
(x+3)(x_3) ..........................................................................
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x“+3x-—10 Explanation:

Which is a correct factorisation 0f the = | crereererirmriiirir e
quadratic expression?

Bl (x4+5)(x+2) | s
Bl (x—5)(x+2) | co———————————n

(x+5)(x—2) |
(x—S)(x—Z) ..........................................................................
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x%—16

Which is a correct factorisation of the
quadratic expression?

(x +8)(x—8)
(x — 4)?
(x+4)(x—4)

Doesn’t factorise

x2 — 4x

Which is a correct factorisation of the
quadratic expression?

(x +2)(x-2)
x(x —4)
(x+1D(x—4)

Doesn’t factorise

x%2—-2x-8

Which is a correct factorisation of the
quadratic expression?

B (x—4)(x-2)
B) | (x+4)(x+ 2)
(x —4d)(x+2)
(x +4)(x — 2)

x2—-7x+ 10

Which is a correct factorisation of the
quadratic expression?

(x —5)(x—2)
B (x+5(x+2)
(x+5)(x —2)
(x = 5)(x +2)
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2x% +11x+5

Which is a correct factorisation of the
quadratic expression?

(2x+5)@2x+1)
(2x +5)(x + 1)
(2x+1)(x+5)
(2x +6)(x + 5)

3x2+17x—6

Which is a correct factorisation of the
quadratic expression?

Bx+6)(x—1)
(3x + 1)(x — 6)
(Bx—6)(x+1)
(Bx—1D(x+6)

16x%2 -9

Which is a correct factorisation of the
quadratic expression?

Bl (8x+ 3)(2x — 3)
Bl (8x+3)(8x—23)
((x+3)(x—3))?
(4x + 3)(4x — 3)
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